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1)  Which group of Algae plays a dominant rule in Nitrogen Fixation ?
1) Chlorophyceae 2) Myxophyceae 3) Rhodophyceae 4) Phaeophyceae
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2)  Cardiac glycosides present in the plant foxglove are:
1) crotin and crotonoside 2) digoxin and digitoxin
3) hyoscine and hyoscyamine 4) strychnine and brucine

3) IR o= e (o8 SFReM) Irageie fiesd,

9) YgrEueref ITUTRA ETERITS R) FHfUd St fus
3) ATPer IS Q) daTeT SaUR
3)  The third generation Bioethanol is obtained from
1) food based feed stocks 2) dedicated energy crops
3) wood residue 4) algal biomass
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4)  The Predominant flavanone type of flavonoid found in grapefruit is :
1) Apigenin 2) Naringenin 3) Quercetin 4) Genistin
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5) The predominant flavanone type of flavonoid found in the citrus fruits is :

1) Apigenin 2) Catechin 3) Hesperidin 4) Genistein
&) e SACD I, V] ARV =TT ITIRRAS! IRl S,

q) fefSrefor u=fRar  2) =P TR, 3) DRBS spp. (PRES) 8) HEIRT 3N THTRA
6) e being a Cathartic, is used for the treatment of atomic radiation burns.

1) Digitalis purpurea 2) Cinchona spp.

3) Aloe spp. (Aloe vera) 4) Mandragora offinarum
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Match the following :

a) Rhizobium I) Symbiotic association with trees and shrubs and fixes atmospheric N.

b) Azotobacter I) Chemo-heterotrophic bacteria associated to live within roots of
sorghum, pearl millet, rice

c¢) Frankia III) Live in the root nodules of legumes through symbiotic relationship

d) Azospirillum IV) Aerobic chemo-heterotrophic and free living bacteria

Answer options:
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Which of the following desirable characteristics of an ideal green manure crop should possess ?
a) It should be legume crop with good nodular habit

b) It should have litle water requirement for its own growth

¢) It should have a deep root system and contain large quantities of non-fibrous tissues

d) It should have a shallow root system and certain fibrous tissues

Answer options :

1)a,band conly 2)aand b only 3)b,cand d only 4)a, cand d only
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Which of the following micronutrient present in nitrogenase and nitrate reductase enzymes
essential for nitrogen fixation and nitrogen assimilation ?
1) Zinc 2) Manganese 3) Molybdenum 4) Boron
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Which one of the following facilitates an increased uptake of phosphorus ?
1) Azotobacter 2) Biue green algae 3) Mycorrhizae 4) Actinomycetes
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Dattura spp. contains which of the following potential commercial alkaloid ?

1) Tropane 2) Morphine 3) Quinine 4) Caffeine
AR I, AR JAeIged aRAfT a1 ... 3TTR.

9) Pinus roxburghii Sar ?) Morus alba Linn

3) Dalbergia latifolia Roxb ¥) Cedrus deodara Loud

The botanical name of timber plant, Indian rosewood is .............

1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud
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Which of the following is the most suitable crop for silage making ?

1) Maize 2) Cowpea 3) Barsim 4) Lucerne
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During the process of ............ ammonium is converted into nitrate by Nitrosomonas bacteria.
1) nitrification 2) mineralisation 3) mobilization 4) immobilization
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Which of the following crops are benefitted by Azospirillum ?

1) Bajra, Maize 2) Chili, Tomato

3) Potato, Onion 4) Groundnut, Sunflower
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Nitrogen fixed by the Rhizobium is translocated through xylem vessels of the host plant in the
form of

a) Asparagine b) Glutamine ¢) Glutanin d) Thiamine
Which of the above form is/are correct ?

1) aonly 2)aandbonly 3)a,band conly 4) c and d only
............... g TRA dheled! YeIAfHe HistetedT M7 gRa<ia warqiel (nutty flavours) Fefd aTmed.
) YRR ?) X 3) T g) claed
............... are associated with roasted and nutty flavours in heated foods.

1) Pyrazines 2) Esters 3) Terpenes 4) Lactones
........ WTeATedeh! ST&TT STral iR SEISe alg™ SAUITIIS! dhell STl

9) PHERAC AT Q) fUrie =id 3) ufee RRg ¥) foRle JRR
........ grape variety from the following is used for making white wine.

1) Cabernet sauvignan 2) Pinot blanc 3) Petite sirah 4) Pinot noir
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leave toxic chemicals in the soil which donot allow germination of subsequent crops.

a) Sorghum b) Sunflower ¢) Sugar cane d) Sesamum

Which of the above is/are correct ?

1) a only 2)aand b only 3)a,b and c only 4)Alla,b,candd
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All spice combines in itself the odour and flavour of

1) Nutmeg; Cardamom; Cumin and Anise 2) Fennel; Cumin; Ginger and Cinnamon

3) Nutmeg; Clove; Cinnamon and Pepper 4) Cardamom; Clove; Saffron and Nutmeg
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Which of the following trap crop helps in reducing damage by Helicoverpa in cotton ?
1) Maize 2) Sorghum 3) Sunflower 4) Marigold
ETefiedehl PIuTt hig PleT fUhiar @I Bl ?
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Which of the following pests attacks cole crops ?

1) Mealybug 2) Aphid 3) Whitefly 4) Fungus gnat
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9) Ectocarpus secundes Q) Marchantia simlana
3)Bacillus thuringiensis 8) Cladonia rangiferina
23) The insect larvae. of certain butterflies and moths are best controlled with the help of a microbe
suchas...... .....
1) Ectocarpus secundes 2) Marchantia simlana
3) Bacillus thuringiensis 4) Cladonia rangiferina

RY) Wleflelidh! THur T URAe P 3 ?
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24) Which of the following is total stem parasite ?
1) Cuscuta 2) Striga 3) Orobranche 4) Loranthus
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